
 

Problems and Solutions 
1.    Determine if the following triangle is right triangle. 

a2+ b2 = c2 
52 + 122 = 132 
25 + 144 = 169 
169 = 169  
This is a right triangle. 
 
 

2.   Determine if the following triangle is a right triangle. 
a2+ b2 = c2 

82 + 62 = 102 

64 + 36 = 100 
100 = 100  
This is a right triangle. 
 
 
 
 
 

3.  Find the missing side length and round to the nearest tenth. 
a2+ b2 = c2 

102 + 72 = c2 

100 + 49 = c2 
149 = c2 

                   149 =   𝑐2  

       12.2 = c 
 

4. Find the missing side length and round to the nearest tenth. 
a2+ b2 = c2 

3.92 + b2 = 112 

15.21 + b2 = 121 
-15.21           -15.21 
 
b2 =105.79 

                   𝑏2  =   105.79 

                    b = 10.3 
 

5.  Find the missing side length and round to the nearest tenth. 
a2+ b2 = c2 
32 + 72 = c2 
9 + 49 = c2 
58 = c2 
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